
� � � � � �

�	
��
���

����

���������������� !"#

������ �		�		
��� ��� 
�������	�� ������ ��������� ���

�����		 ������� ��	��
	

$ % &'()*

�������� ��������� ���

+,-.'/01 2�

�� �	��� ��! "����� #����

345�6789:;

���� ����



���������������� !"#

������ �		�		
��� ��� 
�������	�� ������ ��������� ��� �����		 �������

��	��
	

$ % &'()* �������� ��������� ���

+,-.'/01 2� �� �	��� ��! "����� #����

� � � � � �

�	
��
���

����

� ���	�	

��$
����� �� ��%���
��� �� &��������� ��� ������� &����������

������� �� &��������� &����������

'������� ����� ���� (�� ��	���

�� %������ )������ �� ��� *�+����
���	

��� ��� ������ ��


�	���

��

��%���
��� �� &��������� ��� ������� &����������


��, -../

#	�����, ���0��, *�%�$��� �� �����

345�6789:;



���������������� !

"#

�&'()* +,-.'/01 2�

� � � � � ��	
��
���<$%=>��?

@ A

BCD$%3EFG��������<HIJKLMMNOJPQIJRNSTMQLU>VWXYZ[\]^B

_`��abcdefghVijkEFGlmn\]opq��3rstruvVw

xayz<MLPMJINPJ{LM>^C|yzB}~�����E�������&��Eo�

g�����������������^FGBC���3V�A��b'�t�q

wxa��"�E�"�� ¡¢Y��£¤t�¥�¦§¨�©ª«¬­E®��¯

°Vª«E±²wxa�����³g�&V��£´tpqµ¶[©�·V��u¸

YEo¹º»¼q�"�©½¾�¿� !"#<ÀPJUÁRTNÂLQLKQÃJPNÄJ{ÅRL>^º !"

#��®�ÆÇVÈ¢EpqrÉV !�·
ÊËÌÍÎEÏ¿� !"#gdÐÑ

Ò§ÓÔÕÖ����3^FGÖ�®�ª«E×ØÙwxaÚÛ~���EÜ��

3=�qV¿� !"#Ýgb³ÒÞß����Vàáâ
WXâ^ºãEäå~

��æ�gçèéê�ëì !	������VijE��æ��íîïðY��

<MQLÁRQñTNÁQQÁKò>�óô¿� !"#EõºEÜ$%ö��ïðY���g����

�V��÷�ª«t\]
²�^Ü$%øù×ª=�qV¿� !"#��b³Vµ

¶��������V¡¢Y��
ïðY��EÑf¢ú��V����^

�



	
���
 ���������
 ��� ����������� �

��� ��
��
��� ���

������� ���
��� ���
���

�������� ��������� ��� �� �	��� ��! "����� #����

��%���
��� �� &��������� ��� ������� &����������

'������� ����� ���� (�� ��	���

���
���


1� %��	��� 	������� �����	�	 �� %����		 ������� 	�	��
	 2���3 0��� �� �������� ��� ��
%��
�	�

	��	�� 
��	���
���	 ���� ��� �������� ��� 
���������� ��� �%��������� ����	! 1� %��	��� ���

������� 	��	�� ������ 
���� ���� ��� ��%��	��� � 0���  ������ �� ��������� ������	! �� ������

�4�
%�� �� � 0��� 	������ %����		 ������� 	�	��
, 0� ��	��		 ��� ���	�+�����	 �� 	��	�� ������	

�� ��� %�����
���� �� ��� 	�	��
 ��� �
%������ �
%��������	 ��� ��	������ �����	� ������	! 1�

�� ���% 
�����$�	�� ��������� 
�����	 ���� ��� $� ����� �� ��
�� ��� ���	������
 ����	 0����

��������� � ����� ���		 �� 	��	�� ������	! )��
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PÁ(RLNJ~NOJPQLPQM Ã'

�ÃMQNJ~N�Ã�ÅILM 'Ã

�ÃMQNJ~NPÁ(RLM 'ÃÃÃ

OñÁ�QLI � �PQIJ{ÅKQÃJP �

��� OJPQIJRNSTMQLUM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7

��� UL�N�ÅRPLIÁ(ÃRÃQÃLMNÁP{NPñILÁQM � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8

��Z TÅINÀ��IJÁKñ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8

��� STPJ�MÃM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 9

OñÁ�QLI � HIJKLMMNÂLMKIÃ�QÃJP �

OñÁ�QLI Z PñILÁQNÀMMLMMULPQ ��

OñÁ�QLI � ÀQQÁKòNUJ{LRM �Z

��� À{{ÃQÃ'LNÀQQÁKòM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 78

��� ÄÅRQÃ�RÃKÁQÃ'LNSKÁRÃP�NÀQQÁKòM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7:

��Z ÂLRÁTNÀQQÁKòM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 79

OñÁ�QLI � ÄJ{LR��ÁML{NÀQQÁKòNÂLQLKQÃJP ��

��� �ÃPLÁINÄJ{LR � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7;

� 



��� ÂLQLKQÃJPNÄLQñJ{M � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7/

����� SL�ÅLPQÃÁRNÂLQLKQÃJP � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -.

����� OñÁP�LNÂLQLKQÃJP � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -.

����Z �LM�JPMLN�MÃP�N�ÃPLÁINÄJ{LR � � � � � � � � � � � � � � � � � � � � � � � � � --

OñÁ�QLI � ���LIÃULPQM ��

��� PIÁÃPÃP�NHÁIÁULQLIM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -:

����� PIÁÃPÃP� b � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -:

����� PIÁÃPÃP� τ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -9

��� SÁ~LQTNJ~NÀÅQJUÁQÃKN�LM�JPML � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -;

��Z ÂLQLKQÃJPNÁP{N�LM�JPML � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -<

��Z�� ÄÅRQÃ�RÃKÁQÃ'LNSKÁRÃP�NÀQQÁKòM � � � � � � � � � � � � � � � � � � � � � � � � � -<

��Z�� ÂLRÁTNÀQQÁKòM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 87

OñÁ�QLI � SQLÁRQñTNÀQQÁKòM Z�

��� ÄJ{LRNSQLÁRQñTNÀQQÁKòM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 89

��� ���LIÃULPQM � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8;

OñÁ�QLI � OJPKRÅ{ÃP�N�LUÁIòMNÁP{N�ÅQÅILNSJIò Z�

�L~LILPKLM ��
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��� ÀIKñÃQLKQÅILNJ~NQñLNSÃU�RÃ~ÃL{NP� HRÁPQ � � � � � � � � � � � � � � � � � � � � � � � � � =

��� SÃ�PÁRMN�ÃQñJÅQNUJÃML � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � <

��Z SÃ�PÁRMN�ÃQñN�ÁÅMMÃÁPNPJÃML� ULÁPN�N�� 'ÁIN�N��� � � � � � � � � � � � � � � � � � � � /

Z�� �PQL�IÃQTNÁQQÁKò ymax3 ~IJU t = 10 QJ 30� PñLNMTMQLUNILUÁÃPMNÃPNÁNMÁ~LNMQÁQLN~JINÁQQÁKòM

JP y3� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 77

Z�� SÁ~LQTNKÁPN(LN(ILÁKñL{N(TNKJU�IJUÃMÃP�NMLPMJI y2 �Z���Á��� ÂJS ÁQQÁKòM� JPNQñLNJQñLI

ñÁP{� {JNPJQNKÁÅMLNÁPTN{ÁUÁ�LN�ÁP{NQñLTNÁILNLÁMTNQJN{LQLKQ�� �Z���(��� � � � � � � � 77

��� PñLN�IJ�JML{N{LQLKQÃJPNUJ{ÅRL� ÅMLN�ÃPLÁINÄJ{LR� � � � � � � � � � � � � � � � � � � 7;

��� PñLN�ÁIÁULPQLINJ~NÀÂÄ� b� �JI y1� 9951 bMNÁIL 0.015� PñLNULÁPN'ÁRÅLNJ~ by1 ÃM 0.0642� -:

��� PñLNPÅU(LINJ~N~ÁRMLNÁRÁIUMN{LKILÁMLMNL��JPLPQÃÁRRTN�ÃQñNÃPKILÁMÃP� τ � PñÃMNILMÅRQM

KJP~ÃIUNQñLNQñLJITNMÅ��JIQÃP�NQñLNPJP�ÁIÁULQIÃKNO�S�Ä ÁR�JIÃQñU� � � � � � � � � � � -9

��Z PñLNQÃULN~JIN{LQLKQÃJPNÃPKILÁMLMNRÃPLÁIRTN�ÃQñNÃPKILÁMÃP� τ � PñÃMNILMÅRQMNKJP~ÃIUNQñLNQñLJIT

(LñÃP{NQñLNPJP�ÁIÁULQIÃKNO�S�Ä ÁR�JIÃQñU� � � � � � � � � � � � � � � � � � � � � � -=

��� ỹ1 = y1 ∗ 0.5 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -/

��� ỹ2 = y2 ∗ 0.5 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8.

��� ỹ3 = y3 ∗ 0.5 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 87

��� {LQLKQÃJPNQÃULN'�M� MKÁRÃP�NÁQQÁKò� UJQLNQñÁQN~JI λm = 1 QñLILNÃMNPJNÁRÁIU� � � � � � � 87

��� ỹ2(t) = y2(t− 10) � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8-

��� {LRÁTNQÃULN'�M� KIÁMñNQÃULN�N{LQLKQÃJPNQÃUL � � � � � � � � � � � � � � � � � � � � � � 8-

���� ỹ1(t) = y1 ∗ 0.8 � ỹ2(t) = y2(t− 10) � � � � � � � � � � � � � � � � � � � � � � � 88

���� ỹ2(t) = y2(t− 10) � ỹ3 = y3 ∗ 1.2 � � � � � � � � � � � � � � � � � � � � � � � � 8:

��� MQLÁRQñTNÁQQÁKò�ỹ2 = y2 ∗ 0.9� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8;

 �



��� MQLÁRQñTNÁQQÁKò�ỹ2 = y2 + noise� � � � � � � � � � � � � � � � � � � � � � � � � � � � 8<

��Z MQLÁRQñTNÁQQÁKò � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8<
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 �� 	�����

��� �JINPñILMñJR{M τy1 = 50, τy2 = 10000, τy3 = 200 �LNJ(QÁÃPNPJN~ÁRMLNÁRÁIU� PñLIL~JIL

�LNJPRTNIL�JIQNQñLNL��LKQL{N�ILMMÅIL� QñLNMQÁP{ÁI{N{L'ÃÁQÃJPNJ~NQñLN�ILMMÅIL� ÁP{NQñL

UÁ�ÃUÅUN�ILMMÅILNILÁKñL{NÅP{LINPJN~ÁRMLNÁRÁIU� � � � � � � � � � � � � � � � � � � -<

��� �LñÁ'ÃJINJ~NQñLN�RÁPQNÁ~QLINILM�JPMLNQJNÁN~ÁRMLNÁRÁIUN�ÃQñNQñILMñJR{M τy1 = 5, τy2 =

1000, τy3 = 20� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � -<
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���0	, ���� �� ��	, �� %��		��� �� 	������ ����	? 
������ 	��� �	 %#, ���$�����, ��� ��������

��	�����? ��� ������� ��� �������� �� ���
����	 �� ��� 0����!


����� ��� ����	����� ������� 	�	��
	 �� � � 
���������� ������� 	�������� @7A, @-A! ���

� ����� �$B���� �	 �� 	��� � ������� 	�������� ���� 273 �� 
������� 	��� �%��������� ����	 $� ��
�

����� ��� %��$�$����� �� ����	���$�� $��� ���, 2-3 �� 
��� ��� %��������� ��
���	 $� ���%���

������� %����		  ����	 0����� %��	���$�� ��
��	, 283 �� 
�4�
�6� %��������� %�����!

1� ��	������	� $��0��� �0� ������� �����	 ���� ��� 	�%%�	�� �� ������ � 	�� �� ������������

��������� ������� �$B���� �	 0���� �4�������� ����		��� �����
����� 0��� ���� �����! ��� �
��


	����� ������	 	��
� ��	 ������ ����		 �� ��� 	��	��	 ���� 
��	��� ��� %����		  ����$��	! ���

%����		  ����$��	 ��� ���������� $� ��� ��������	 ���� ����� � ��%�� 	�����	 ���
 ��� ����������

����� ����������	! ���	� ����������	 ��� ��	%��	�$�� ��� ��
���� 	����� ��� �%������� �� ��� %���

��		�	 �� ��� 	�	��
 ��� ��� ����� ��� 0��� ���� ���+�����! C� ��� ����� ����, ��� ����������	

�� �
�
������� ������	 	��
� �	 
����� ��	%��	�$�� ��� ����������� ������� 	��0��  ������ %����		

 ����$��	 ��� ��� %�� ����� 	���%����	 �� ��� ����������	 �� ��� ���������� �����!

����� ��� ���������� ����� ����������	 ��� ��+����� �� ��
��	����� ��	��� ��	%��	�, ���� ���

������������� $�	�� �� ��� ���		�� %��%���������������������� ��� � 2�>�3 ��������
	! �>� ����

���� ��������
	 	���� �� ��� 
��� �� ������� 	�	��
 %������� $����	� ���� ��� ��	� �� ���� ���

%�� ��� ����%��$�� %�����
���� ���������	 �� 
��� 	��������	! #�0� ��, ��� 	�%�� �	��� �����

����������	 ��� ��������� $�	�� �� �%��
�6����� $�	�� %������� � ��������
	 @8A!

��%�� �	��� ����� ����������	 ��� ����� ��������6�� ��� 0��� 	����� ��
%����� %�0��! 1�

��� �	� ��
%��4 ��� ��$�	� 	������� 	�������	 �� ���%��� �� >� 	�	��
	 �� %������ �����	� ������	

$�� 	��	��	 �� ��� ���������� ����� ��� 	%���� ������ ��� %���� ��� 0��� 0��� ��
%����� %�0��!

-



#����, 	��	��	 ��� �4%�	�� �� ��� ��	� ��� ��	� �� $� ��
%��
�	��! ��������� �� ���	� ���	��	,

0� %�� ��� ��������� �� ������	 �� 	��	�� ����	 ��� �		�
� ��� ��
%����� $����	 �� 	�%�� �	���

����� 2��� �� ����������	3 ��� 	������!

%'� (�) *#���������
��� ��� 	
���
�

�� ���� ������� 	�	��
	 ��� 	��������������� ��� ������ 
�� ���	� � 	���������� �
%��� �� %�$���

������, ��� �� ����
���, ��� �����
�, �� � �� ���� �� ��		 �� ��
�� ����! �������� �����	��������

������� 	�	��
	 ��� 
���  ������$�� ����� ���� �� ��� %�	� ��� �� ��� ������	�� 	��������6�����

�� �����������	, ��� ������	�� �������� ��� �� ������� 	�	��
	 �� ����� ��
%���� ���0���	 ���

��� >�������, ��	����� ����������	, ���! >� 	����, ������� 	�	��
	 ��� $���
��� 
��� ��
%��4

��� �������%������������ ���������, 
���  ������$��!

'�� ���� ��� ������� 	�	��
	 
���  ������$�� ��0, $�� ����� �	 ��0 
��� ����%	 ������	���

�� ��������� ���
! ����� ��� 
��� ���� �����	, ������6�� ����%	 ��� ������ 	����	 ������	��� ��

�4%������� ���  ������$������	 �� ������� 	�	��
	!

�����	� �� ��� ������	��� ��	� �� ��
%���� ������	, ����� ��	 $��� � 	���������� ������ ��

������ ����	 �� ��	��		 ��� �������� ��� 	������� �		��	 �� ������� 	�	��
	 @:��79A!

%'+ ,#� �$$����


1� $���� � ���� 
�	� �� ��� %�� ���	 0��� �� ��� 	������� �� ������� 	�	��
	 ��	 ����� ����	� 273

������ �0�����		 �� 	������� �		��	 0��� ������� 	�	��
	, 2-3 ���% ������� 	�	��
	 �%������	 ���

>� 	������� �������	 ��	��� � 	������� %�����, ��� 283 ����

��� $�	�� 	������� 
������	
	 ���

%�� ������ 2��������������, ����		 �������	, ���3, ���������, ��� ��	%��	� �� 	������� $������	!

1���� ���	� ����

��������	 ��� 	�������	 �� � %����� 	���������� �
%������� �� ��� �
��
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������	��� �� ������� 	�	��
	 2����� �$����� �� �%����� 0���� ���� ��� ����� ������3? 0� ����� ����

���� �� � ��� ���	������ ��0 ��	����� %��$��
	 ���� ���	� 0��� ������� 	�	��
	 ��� ����� ���

����! >� %���������, 0� $���� � ����, 	� ���, �� ��� ��	 $��� �$�� �� ���������� 0��� �	 ��0 ���

�����
������� ��������� �� ���	 ����� ���
 � ��	����� %���� ��  ��0 ��
%���� �� ����������� >�

	�������!

>� %���������, ��	����� �� ��
%���� 	������� ��	 ����	�� ������������� �� ��� %��������� ��

�����
�����! *�	�������	 �� � ��� ���	������ ��0 ������	 ������ ��� �	��
����� ��� �������

��������
	 ��� ����
�����, ��0 ������	 ������ ��� %��	���� 0����!

>� ���	 0��� 0� ����� ���� ��� 
�B�� ��	�������� �� ������� 	�	��
	 0��� ��	%��� �� ����� >�

	�	��
	 �	 ��� ����������� �� ��� ������� 	�	��
 0��� ��� %��	���� 0����! >� ���	 %�%�� 0� %��%�	�

�� �����%����� ��� %��	���� %����		 ����
��	 �� ��� 	������� �����	�	 �� ��� ������� 	�	��
! >�

���	 %�%�� 0� ����	 �� �� �������� ���� ��
%��
�	�	 	��	�� �������	! 1� �� � �0� 
�B�� ����	

273 �� �� ���% � ������ �		�		
��� 
����������, ��� 2-3 �� ��	��� ������ ��������� ��� ��	%��	�


������	
	!

��� ���� �� ������ �		�		
��� �	 �� �������� ��� 
�	�  ����$�� ������	 ��� �� �����	����

��� %�		�$�� ������ 	��������	 �����	� ��� ������� 	�	��
! 1� ����� ���� �� �%%��%����� ������

�		�		
��� �� ������� 	�	��
	 
�	� ������� �� �����	�	 �� ��0 ��
%���� ������	 ��� ������ ���

%��	���� 0���� �� ����� �� 273 �����	���� ��� ���	�+�����	 �� �� ������, 2-3 �	��
��� ��� %�		�$��

��		�	, 283 �	��
��� ��� ��	%��	� ��
� ��+����� $� ��������	, ��� 2:3 �������� 
�	� ��	��������� �

�����	�	 �� ��� 	�	��
!

��� ���� �� ������ ��������� ��� ��	%��	� �	 �� %�� ��� ������	 ���	���� ��� %����! (�����

��� 	������� �� >� 	�	��
	, 0� ���5� ����	 �� %��������� �����
����� �� ������� 	�	��
! ��� 
�	�

�
%������ ����� ��� ������� 	�	��
 �	 �� ���% ������� ��� 	��� �0�� ���
 ���	��	! ���	��	 ��

������� 	�	��
	 
�� ��	��� �� 	�����	 ��
��� ���� �4%��	��� �� %��	�� ��	 ����! �� 0� ��� ��

:



��	��� ��� 	����� �� ��� %���� 0��� ��� %���� �	 ����� ������!

>����%������� ��� %��	���� 
���� �� ��� 	�	��
 ��� ��	� ���% �� ������ ��� ��	%��� �� ������	!

�� 
������� ��� ����
��	 �� ��� %��	���� %����		 0� ��� ������ ������	, ��� �	� ��� 
���� ��

%������ ��� 	���� �� ��� 	�	��
 �� ��	� 	�
� 	��	�� ����	 ��� ��
%��
�	��!

%'- ����$���

>� ��� ��4� ���%���, 0� %��	��� � 	�
%������ �����		���&�	�
�� %����		 ������� 	�	��
 2�&�

���3 ��� 0���� � 0���  ������ �� ���������� ������� ��������
	 �� � $��� �� ���%�� $� �������

	�	��
 ��������	! ��� �%��������� ����	 �� ��� ������� 	�	��
 �	 �� 
������� %����		 	����� ���

��	��� �����
���� %���������! ���%��� 8 ����		�	 �� ������ �		�		
��� ��� %�� ���	 ��	����	 ��

��� 	��������	 ���� �� �������� 
�� �����0 �� 
�4�
�6� ��
��� �� �%��������� ����	! >� ���%���

:, 0� %��	��� ��� ������� 	��	�� ������ 
���� ���� ��� 
���� � ��
$�� �� ��������� ������	

�� 	��	�� 
��	���
���	 ���� ��� ����		�$�� �� ��� ��������! 1� %��	��� � 
�����$�	�� ������

��������� 
����� ���� ��� ������ � 0��� ���		 �� ������	 �� 	��	�� 
��	���
���	 �� ���%��� 9! >�

���%��� =, ��� ������ ��������� 
����� �	 ����� �� ��
�� ���	� %�	��� � ����	 ��� ��	 %�����
���� �	

� ������� ��� ��������� 	��	�� ������	 �� �&����! ���%��� ; %��	���	 ��� ��	� �� 	������� ������	

�� 0���� ��� �������� ��� �4%���� ��� ���0����� �� ��� ������ ��������� ��� 	�	��
 �%�������


�����	 �� � ��� ������� ��������! 1� %�� ��� ���������� ��
���	 �� ���%��� <!
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�
�$
�� �

������� ������$
���

>� ���	 %�%��, 0� �	� ��� �����		���&�	�
�� %����		 ������� 	�	��
 2�&����3 
���� ���

��� �		������� 
��������% �> ������� ��0 �	 %��%�	�� $� *����� @7=A �	 ��� �4%���
����� �� ��

���
���! 1� $������ ��	���$� ��� %����		 ������������ ��� ��� ������� ���%	 �� )����� -!7! ���

�������� %����		 
���� �	 �
%��
����� �� )C*�*�' ��� ��� �> ������� ��0 �	 �
%��
����� ��


�����! 1� 0��� �	� ���	 ���� ��� ��� 	����!

Loop 1
Controller C1

Loop 2
controller C2

Loop 3
controller C3

Loop 4
Controller C4

Product
sensor S1

 Purge

Product(D)

Pmax

Psp

(y1)

Feed 1
(A+B+C)

Feed 2
(pure A)

y3

y3
sp

P

F4
sp

u2

u1

u3

Reactor
sensor S3

Pressure
sensor S2

P

F1

F2

Valve V2

Valve V1

Valve V3

F3

F4

(y2)

F4

F4

)����� -!7� ������������ �� ��� ��
%������ �& �����

��� ���
���� %����		 ���	�	�	 �� �� ���� ��	�$�� �������� 0���� �����	 �� ���  �%��� %��	�

��	��� � ������� �� ��4��  ���
� V �� 122 (m3)! �0� ����������	�$�� ��������	 A ��� C �����

=



�� ��� %��	���� �� �� ����� B �� ���
 � ���� ������� ��+��� %������ D�

A+ C
B−→ D.

��� ���� 	����
 1 �������	 A, C ��� ����� �� B? ���� 	����
 2 �	 %��� A? 	����
 3 �	 ��� %����

����������  �%���	 �� A, B, C? ��� 	����
 4 �	 ��� �4�� ��� ��+��� %������ D! ��� 
��	����

���0 ����	 �� 	����
 i �	 ������� $� Fi (kmol h−1)! ��� ������	 ���
����
� ���

� �� �
�
	��
 F4, ��� ���� �� %��������� �� ��� %������ D, �� � 	���%���� F sp4 (kmol h−1),

� 0���� 
����������P , ��� �%������� %��		��� �� ��� �������, $���0 ��� ���	� ��
�� �� 3000 kPa

�	 �������� ���
�� ���	���������	,

� �� ���% y3, ��� ����� �� ���������� � �� �������, ��	��� �%������� �� ��� ���
���� �������!

��������� �� ��� ������� �$B���� �	 
�������� �$� �, *����� @7=A 	����	�	 ��� ������� ���%	

�	 �����0	 2��	� 	�� )����� -!73�

• ������� ���% 7�

��� ���	� ������� ���% �������	 ���% 7 ���������� C1, ���� 7  �� � V1 ��� %������ 	��	��

S1!

���% 7 ���������� 
������	 %��������� ���� F4 = y1 ��� ��
%���	 ������� 	�����	 u1 ��

��B�	� ���� 7  �� � V1! �� ��B�	���� ���  ���� �� V1, ���% 7 ���������� ������	 ��� �
����

�� ��%�� ����������	 ��� ��������	 %��������� ����!

• ������� ���% -�

��� 	����� ������� ���% �������	 ���% - ���������� C2, %����  �� � V2 ��� %��		��� 	��	��

S2!

;



���% - ���������� ����� �	 	��	�� 	�����	 P = y2 	����� $� %��		��� 	��	�� ��� ��
%���	

�������	 	�����	 u2! ������� 	�����	 u2 �%�� %����  �� � �� ���  �%�� �� ������� ���	 ���	���

�� %��		��� �	 � ������, ���  ���  ��	�!

• ������� ���% 8�

��� ����� ������� ���% �������	 ���% 8 ���������� C3, ���� -  �� � V3 ��� ������� 	��	��

S3!

���% 8 ���������� ���	 	��	�� 	�����	 y3 0���� �	 ��� ����� �� ���������� � �� ������� ���

��
%���	 ������� 	�����	 u3 �� ��B�	� ���� -  �� � V3! ���% 8 ���������� ���%	 ��� �����

�� � �� ������� $� 
��������� y3 ��� ������ ���� -  �� �!

• ������� ���% :�

��� ������ ������� ���% �������	 ���% : ���������� C4, ���% 7 ���������� C1, ���� 7  �� �

V1 ��� %��		��� 	��	�� S2!

���% : ���������� �	 ������ %�� ��� ��� ��		 �� %��		��� ������� ��	������ ���
 	���������

�� ��� %���� ���� u2 �� ���%−2 ����������! 1��� P = y2 �	 � ������, ��� ���% : ����������

������	 	���%���� F sp4 ��� �	�	 u1 �� ������� %��		��� P = y2!
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purge valve

)����� -!-� ������	 0������ '��	�

���	� ���� ������� ���%	 ���% %���� 0��� �� 	������	����! ������ ��� 	������	���� �%�������,

��� %��������� ���� F4 = y1 �	 100 kmol h−1, ��� %��		��� P = y2 �	 2700 KPa ��� ��� ��������

��A �� ������� y3 �	 47 molU! 1� ��	� ��� � W��		��� ��	���$���� 0��� 6��� 
��� ���  �������
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)����� -!8� ������	 0��� W��		��� ���	�, 
��� X .?  �� X .!-

0.2 �� ��� ������� ��%��	 ui(k) 	� ���� ��� 	�	��
 �	 �� �� �� � ��
%���� 	����� 	����! )�� -!-

��� -!8 	��0 ��� 	�
������� �� ��� %���� 	�����	 0������ ���	� 2�� 	����� 	����3 ��� 0��� ���	�

��	%���� ���!

/



�
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���
 ���������


1� 	���� ��� 	������� �		��	 �� ������� 	�	��
	 $� �4%���
������ ��� 	�
������� ��$��

������	 �� 	��	�� 	�����	 �� ��� �&���� 
����! �����	� �%������� ��� ���
���� ������� 0��� �

%��		��� ������ ���� 3000 ��� �	 ��	���! >� 
�� ���� �� �� �4%��	��� �� ��
��� �� ��� �+��%
���!

�		�
� ���� ���� ��� ���� �� ��� �������� �	 �� ���	� ��� %��		��� �� �� �� ��� ���� �� �  ���� ������

���� 3000 ���, 0� ������ � 	����� 	��	�� �� � �� �� ��
�! ��� yi ������	 ��� 
��	���
��� $�

	��	�� i ��� ỹ ������ ��� ����� �� 
��	���
���	 $� ��� ����������! ��� 	��	�� 	�����	 yi �+���

�� ỹi �� ����� ��� �� ������	 �� 	��	�� ����	? yi ������ �� ỹi 0��� %���� �	 ����� ������! )��


��� �4%���
����� ��	���	, 0� ����� ���� ��� 
�	� ������� � �� ���	� ������	 0��� ��� max/min

������	 2
��� ��� ������ 	�����	 ��� �4���
�  ����	, �!�, ymax �� ymin3? ��0� ��, ��� ��� �� ���


0��� �$�� �� ��� � ��� %��		��� �� ��	��� �� ��	! 1� ��0 	�

���6� 	�
� �� ��� ��	���	!

• �� ��������� ��� 	��	��	, � ���������� �	 �4%����� �� ��	%��� 0��� ��������� ������� 	�����	

	���� �� ����� �	 0���� �����
����� ���
 ��� ��
%��
�	�� 	��	��	! >� �� �������� ���	

��� ���0 ��� ����
��	 �� ��� %����, �� ��� ������� ��������
	, �� 
�� ��
%��
�	� � �� ��

�� ��� �� �����
! )�� �4�
%��, $� ������� y3 �	 ymax3 ���
 t = 10 �� 30, ��� ����������

$���� �	 ����� �	 � ����� �
���� �� ���������� A �� ��� ����!

)��
 ��� �4%���
���	, 0� ����� ���� ��� %���� 	�	��
 ��� �� $��� �� ��� 	����� 	���� �����

��� ������ ����	��	, �	 ����	������ �� )�� 8!7! )������
���, ��� %��		��� �� ��� 
��� ����

�� �� ������	 3000 ���! >� ������� 0� ����� ���� ��� %���� �	  ��� ��	������ �� ������	 ��

y1 ��� y3! & �� ������	 �� ��� ��
�� �� ��� 	��	��� ����� 2ymin ��� ymax3 ���5� ����� ���

7.



	�	��
 ���� �� ��	��� 	����!
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ỹ3

y3

)����� 8!7� >�������� ������ ymax3 ���
 t = 10 �� 30! ��� 	�	��
 ��
���	 �� � 	��� 	���� ��� ������	 �� y3!

• �� ��������� ������ ymin2 ��� ���������� ����	 ��0� ��� %����  �� � �� ������	� ��� %��		���

��� %�� ��� ��� ��+��� %������	 ���
 ����
�������! 1� ��� 	�� ���� ��� ���� %��		��� ��

��� ���� 2y2 �� )�� 8!-2�33 ���%	 ������	��� %�	� 3000 ��� ��� ��� 	�	��
 �%�����	 �� ��

��	��� 	����! >� ���	 �4%���
���, �� ����	 �$��� 20 ����	 2t = 10 �� t = 303 �� ���	� 2��

���	� �� �4%��	��� ��3 ��� %����! >� ����	 ���� ��
� ���� ��� 	�	��
 �%������	 
�� �$	�� �

���	 ���	��� %����
���� ��� ���� %��%�� ������	 �����	� ��� ������!
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ỹ2

y2

2$3

)����� 8!-� ������ ��� $� $������� $� ��
%��
�	��� 	��	�� y2 28!-2�33! ��� ������	, �� ���
����� ����, �� ��� ���	� ��� ��
��� 2��� ���� ��� ��	� �� ������!3 28!-2$33!

• 1� ����� ��� ���� �� ������� ��� ������	 �� ��� ������ ��� %����! 1� ��� ��� %���� -.

��
�	 ��� :. ����	 ���� ��� ��� � ��� ������ ��	���� -. ����	 ��� %��		��� �� ��� ����

�� �� �4������ -/.. ���!
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1� �������� ���� �� ��� %���� �%������ 0���	 �� %�� ��� �� ������ ���
 
����� ��� 	�	��


�%����� �� �� ��	��� 	����, �� 	����� %�������6� ��� ��������� �� ��� 	��	��	 ������ ���� ����� � ����

�$�����! ��
� �� ��� 	��	��	 ��� 
��� �������� �� ��� %����, �� ���	 �4%���
���, ��� 	��	�� y2 	�����

��	� $� � %�������!

������ �		�		
��� ���%	 �	 ���� ��� 	�
� ��	� 0�� �� ���	� �&����! )����0��� 0� ��� ��


���� 
��� ������� � ������	 ��������� �� ��� ��	���	 �� ������ �		�		
���!

7-



�
�$
�� -

�

��� ������

>� ���	 %�%�� 0� ����	 �� ������	 �� 	��	�� ���0���	 ��� ��� ������	 ���� ��� �� � �� ���

%����		 ������� 	�	��
! 1� ���	���� ��� ��	� 0��� ��� 	���� �� ��� 	�	��
 �	 
��	���� $� �

	��	�� ���0��� �� p 	��	��	 ���� �$	�� �	 ��� 
��	���
���  ����� y(k) = {y1(k), . . . , yp(k)},

0���� yi(k) ������	 ��� 
��	���
��� $� 	��	�� i �� ��
� k! ��� 	��	��	 �� � � ����
�� �����

���� ������	 ��� ��
��� �� yi ��� ��� k! ���� �	, ��� 	��	��	 �� � ������� 
���
�
 ��� 
�4�
�


 ����	 ∀k, yi(k) ∈ [ymini , y
max
i ]! ��� Yi = [ymini , y

max
i ]! 1� �		�
� ���� 	��	�� ��	 � ���+��

�������� %�������� $� � ���%�����%��� ���!

��� ỹ(k) ∈ R
p ������ ��� �
�
��
� �
��
�
�
��� �� ��
 ������		
� �� ��
� k! ��	�� ��

���	� 
��	���
���	 ��� ������� 	�	��
 ������	 ������� ������	 �� 
������� ������� �%���������

����	! >� 	�
� �� ��� 	��	��	 ��� ����� ������, ỹ(k) 
�� $� ��������� ���
 ��� ���� 
��	���
���

y(k)? ��0� ��, 0� �		�
�� ���� ��� �������� 	�����	 ỹi(k) ��	� ��� 0����� Yi 2	�����	 ���	��� ���	

����� ��� $� ��	��� �������� $� �������������� ��������
	3!

���Ka = {ks, . . . , ke} ��%��	��� ��� ������ ��������? $��0��� ��� 	���� ��
� ks ��� 	��% ��
�

ke �� �� ������!

-'% ����
�.� �

����

������ � ������	 ��� �� ��$������ ���	� λa �� 	��	�� 	�����	! λa 
�� $� ������ � ���	���� �� �

�����
 ��
$��! >� ��� ���
�� ��	�, ��������	 ����� 	��	�� 	�����	 $� 	������� ��� �������� 	�����	
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� ���	���� ���	�� λa! >� λa �	 � �����
 ��
$��, ���� ��������	 ����� ��� �������� 	�����	 $� ������

	�
� �����
 ���	�	!

�� � ��� ��� ��������� �� �������������� ��������, ��� ������ 	�����	 	����� ��� 0����� ���

����� [ymini , y
max
i ]! ��� ������ � ������ ��� $� 
������ �	 �����0	!

ỹai (t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

yi(t) ��� t /∈ Ta

yi(t) + λa ��� t ∈ Ta Y yi(t) + λa ∈ Yi

ymini ��� t ∈ Ta Y yi(t) + λa < y
min
i

ymaxi ��� t ∈ Ta Y yi(t) + λa > y
max
i

-'� �#�
�$����
�.� ������" �

����

'�
���, 
����%������ � 	������ ������	 ������ � 	�	��
 $� �������� ��� 	���� �� 	��	�� 	�����	!

�� ��������� ����	��� �� ���	��� �����
�
� λm(t), ��� �� ��	��� �����	 ��� 	��	�� 	����� y ���

	���	 �� ���	��� ��	

 ỹ �� ��� ����������! �� � ��� ��� ��������� �� �������������� ��������, ���

������ 	�����	 	����� ��� 0����� ��� ����� [ymini , y
max
i ]! ���	, 0� ��� 
���� �� 	������ ������ �	

�����0	!

ỹmi (k) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

yi(k) ��� k /∈ Ka

λmi (k)yi(k) ��� k ∈ Ka

ymini ��� k ∈ Ka Y λmi (k)yi(k) < y
min
i

ymaxi ��� k ∈ Ka Y λmi (k)yi(k) > y
max
i

����� ��������� �� 	������ ������ �� ��� 	��	�� i, ��� 	��	�� 	�����	 yi ��� ������� �� ỹi!

1������ � %��%�� �����	� 
������	
, ��� ����������	 
�� 
�	������� ��

��� ��� ��������	

��� ���� ��� %���� 	�	��
 ���� �� ��	��$�� ��� ��	����� 	����!

7:



-'+ ����� �

����

*������
� ��+����
��� �	 ��� �� ��� 
�	� �
%������ �		�� �� ����	����� ������� 	�	��
	! ���

������� 	�	��
	 ��� ��� ������ ��	���$����	 0������ �������
� �����
�����! �� ���	� ��� %����

	�	��
 �� 
��� �� ��	��$��, �� �� ��	��� 
�� 	��0 ��0� ��� �������� �� � ���������� $� ��������

��� 	��	�� 	�����	! ��� �����0��� �+������	 
���� ��� ����� ������, 0���� λd �	 ��� ����� ��
�

�� 	��	�� 	�����	!

ỹdi (k) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

yi(k) ��� k /∈ Ka

yi(k − λdi (k)) ��� k ∈ Ka Y � ≥ λdi (k)

yi(0) ��� k < λdi (k)

'��� ���� ��� ������� 	����� y(0) �	 �%%���� �� ��� ������� ��
� t �	 ������� ���� ��� 	%�������

%���
���� λd!

����� 
�������  ������ �� ������	, 0� ��0 	���� �� ��������� � ��� 
��� ��	��������� �

�%%������ ����
���� ��������� ��� ��	%��	� �� ������	 $� �	��� ���
��� ��������� 	���
�	!
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��
���

��������� ������	 �� ������� 	�	��
	 ��� $� ���
������ �	 ���
����$�	�� �����	��� ���������

	�	��
	 @7;A! C�� $�� ���������� �� ������� 	�	��
	 ��
%���� �� ����������� >� 	�	��
	, �	 ����

��	���� �� �������� 
����	 �� ���0��� ������� �� 	���0��� $��� ���, 0� ��� �	� � ��%��	������ �


���� �� ��� %��	���� 	�	��
!

C�� ����
��� �	 ���� �� 0� ���0 ��0 ��� ���%�� 	�+����� �� ��� %��	���� 	�	��
, y(k),

	����� ����� �� ��� ������� ��%�� 	�+�����, u(k), ���� ��� ������ �� ��� 	��	�� ��� ������� ����

��� $� %���������� ��������! W� �� �� ��%�� 	�+����� u(k), ��� �������� 	��	�� 
��	���
���	

0��� �4��$�� �$���
�� �� ������	 ���
 ��� �4%����� 	��	�� ���%��	 ������� �� ��������� �� 	��	��

������	! ��
������, �� �� �� ���%�� 	�+����� y(k), ��� ������ �� ��� ������� ��%��	 ��� ��	� $�

�������� $� ��
%����� ��� �� ������	 �� ��� �������� ������� ��%��	 0��� ��� �4%����� �������

��%��	!

C�� %��%�	�� ������ ��������� 	�	��
 �	 %��	����� �� )����� 9!7! ��� ������� ��%�� 	�+�����

u(k) �	 ��� �� ��� %��	���� 	�	��
 ����� $���� %�����$�� $� �� ������ � W��		��� %����		 ���	�

	�+����� w(k)! ��� %����		 ���	� 	�+����� ��� $� ������� �	 ��
������ ������	 ���� ������

��� � ������� �� 	�	��
 	����! ��� ��%�� 	�+����� u(k) �	 ��	� ��� �� � 	�	��
 
���� ���� �	

��%��	������ � �� ��� %��	���� 	�	��
 ��� �	 �������� �� ��� ��������� 	�	��
! 2>� ���	 ��	�, 0� �	�

� ������ 
���� �	 ��	���$�� �� ������� 9!7!3 ��� �������� 
���� 0��� %������ �� ���%�� 	�+�����

ŷ(k)! ��� ���
��� ��������� 
����� 2��
3 0��� ��
%��� ��� �0� 
��	���
��� 	�+�����	� ���

	�+����� ỹ(k) ���� �	 ����� �� ���
 ��� 	��	�� 
��	���
���	 ��� 
�� �� � $��� ���������� $�

7=



��� �������� 0��� ��� 	�+����� ŷ(k) ���� �	 �$������ ���
 �������� 
����! ��� ��
 ���	�	 ��

����� �� ��� �� ������ $��0��� ��� �0� 	�+�����	 �	 	����������!

(sensors)

Computing Blocks

)����� 9!7� ��� %��%�	�� ��������� 
������ �	� ������ 
����!

�� ���
���6� ���	 %��$��
, 0� ���� 273 � 	�
%�� 
���� ���� �	 ��%��	������ � �� %��	����

	�	��
, ��� 2-3 �� ���
��� ��������� ��������
! >� 	������ 9!7 0� ��	��		 ��� ������ �� ������


���� �	 ��� ��%��	������ � 
����! >� 	������ 9!-, 0� ��	���$� ������ ��������� ������ ��� ���

��������� ��������
 0� �	� � � ���%���
����� ��
����� � 	�
 2�(�(
3 	����	���!

/'%  ����� �����

�� �� ���% �������� ������� ��������
	, ������� ��������	 ����� ���	����� � ��%��	������ � 
����

���� ��%����	 ��� $��� ��� �� ��� %��	���� 	�	��
 �� ����� �� %������ ��0 ��� 	�	��
 0��� �����

�� � �� �� ������� 	�����! � ��%��	������ � %����		 
���� ��� $� ���� �� ���
 ���	� %�����%��	

��� 
���� $�	�� �� ��� �����
����� ��0	 �� %��	��	�� �� ���
 �
%������ ��%�� ��� ���%�� ����

��� 
���� �$������ $� 	�
������� ��� %����		 ��%��	 0��� � ��������� ��	����� ��	� 	�+�����!

>� �	 ��	�  ��� ��

�� �� �	� � ��
$������� �� ���	� �0� 
����	? ��� �4�
%��, ���	��%�����%��


����	 ��� ��%������ ����$����� $� �	��� %����		 ��	� ���� �� �	��
��� ��� %���
����	! ����0�	�,

�
%������ 
����	 ��� ����� ��B�	��� �� ������� ��� ���0� %����		 %��	��	 @-, 8A!

7;



)�� ������ 	�������������� �%%��������	, 	��� �	 ��� ����	%��� ����	���, �� �	 ����������� ���

�����
������ ���	�$�� �� �� ���% �������� ��%��	������ � 
����	 @-A! #�0� ��, ��� 
�B�����

�� %����		 ������� 	�	��
	, ��� �� ���%
��� �� %����		 
����	 ���
 �����
����� %��	��	 �	

���������� �� 
��� ��	�	 	��� �������� 
����	 ��� ��������� �� B�	���� �����
������, ��� %�		�$��

� �� �
%�		�$�� �� �$���� �� ���	���$�� ��
� ��� �� ��� ��
%��4 ������ �� 
��� 	�	��
	 ���

%����		�	! �� 	�� � ���	� %��$��
	 
�	� �������  �����	 %�� ��� ����	 2������ ��������������

%������	3 �� �� ���% ��%��	������ � 
����	 �� %��	���� 	�	��
	 ���
 �������� ����! ��� 
�	�

��

�� ��%��	������ � 
����	 ��� 	��
�� 	�	��
	!

������ 	�	��
	 ��� $� �	�� �� 
���� ����
��	 ���� ��� ������ �� 	���� x(k) ��� �������

��%�� u(k)

x(k + 1) = Ax(k) +Bu(k) 29!73

0���� ��
� �	 ��%��	����� $� k ∈ Z
+, x(k) = (x1(k), . . . , xn(k)) ∈ R

n �	 ��� 	���� �� ��� 	�	��
,

��� u(k) = (u1(k), . . . , um(k)) ∈ R
m �	 ��� ������� ��%��! ��� 
����4 A = (aij) ∈ R

n×n


����	 ��� %��	���� ��%������� �� 	���� i �� 	���� j, ��� B = (bij) ∈ R
n×m �	 ��� ��%�� 
����4

��� 	���� i ���
 ������� ��%�� j!

�		�
� ���� ��� 	�	��
 29!73 �	 
�������� $� � �
���� �
����� 0��� p 	��	��	! 1� ���

�$���� ��� ��%��	������ � 
��	���
��� 	�+����� ���
 ��� �$	�� ����� �+������	

ŷ(k) = Cx(k), 29!-3

0���� ŷ(k) = (ŷ1(k), . . . , ŷp(k)) ∈ R
p, ��� ŷl(k) ∈ R �	 ��� �	��
���� 
��	���
��� ���������

$� 	��	�� l �� ��
� k! 
����4 C ∈ R
p×n �	 ������ ���%�� 
����4!

>� ���	 %�%�� 0� �	� ��� ������ 	�	��
, ����������6�� $� ��� 
������	 A, B, ��� C, �$������

$� �������6��� ��� ���������� �&���� 
���� �$��� ��� 	������	���� �%������� ���������	! 2���

*����� @7=A!3 ��� 	������	���� ���������	 ��� 
�������� �� ��� ��� �� ������� -! ��� ������

7<




���� �	 � ���� ��%��	������ � �� ��� ������ �&���� 
���� 0��� ��� �%������� ���������	 ���

���	���$�� ���	� �� ��� 	������	����!

/'� ��
��
��� ��

���

�����	� 0� ���� �� ������ ���
����	 �� ���� ��
�, 0� ��� �	� ��	���	 ���
 	�+������� ���������

������ �� �� � � 	���� ���������� �� ��� �%%�����! ��+������� ��������� ������ ���	����	 ���

%��$��
 0���� ��� 
��	���
��� ��
� �	 ��� ��4��, $�� ��� $� ���	�� ������ �	 ��� 0��� ���


��	���
���	 ��� �$������! ���� %��$��
 ���
�������	 ��� ������ ������	 �������� ����	
��!

�0� 	��� %��$��
 ���
�������	 ���� 	�+������� ��������� 2��	� ���0� �	 	�+������� ��%�����

	�	 ��	����3, ��� +�����	� ��������� 2��	� ���0� �	 ������ ���������3! � ���� 	�� �� �� ���	�

%��$��
	 �	 �� �� $� Z������ ��� ���� @7<A!

>� �%��
�� 	��%%��� %��$��
	, 0� ��� �� �� � ��
� 	����	 	�+����� z(1), z(2), . . . , z(N),

��� ��� ���� �	 �� �����
��� ��� 
���
�
 ��
$�� �� 	�
%��	,N , ��� ���
��� ��������� 	���
�

	����� �$	�� � $����� 
����� � ����	��� dN $��0��� �0� ��%����	�	� H0 2���
�� $��� ���3

��� H1 2������3!

��� 
��� ���������� $��0��� 	�+������� ��������� ��� ������ ��������� �	 ���� ��� ���
��

�		�
�	 ��� 	�+����� z(i) �	 ��������� ������ $� ��� ���
�� ��%����	�	 H0 �� $� ��� ������

��%����	�	 H1! ��� ���� �	 �� ������ 0���� ��%����	�	 �	 ���� �� 
���
�
 ��
�! C� ��� �����

����, ������ ��������� �		�
�	 ���� ��� �$	�� ����� z(i) 	����	 �����H0 ��� ����, �� � �� �� ks

�� ������	 �� ��%����	�	 H1! #��� ��� ���� �	 �� ������ ���	 ������ �	 	��� �	 %�		�$��!

���� %��$��
 ���
�������	 ���  ��� %�%����, $�� 	������� ��	�������	 �� � �	�� 	�+����

���� ��������� 
��� ���+������! #�0� ��, ��� ��� ������ ��������� 
�����, ��� ������ ���������

���
������� �	 
��� ������� �! �� ���������� ���	 ���������, 0� ��0 $������ ��	���$� ��� �0� ����

7/




�������	!

/'�'% ��1#��
��� ��
��
���

W� �� � ��4�� %��$�$����� �� ���	� ����
 ��� � ��4�� %��$�$����� �� ���������, ��� ���� �� 	��

+������� ��������� %��$��
 �	 �� 
���
�6� ��� ��
$�� �� �$	�� �����	 ��+����� �� 
��� � ���

��	��� $��0��� �0� ��%����	�	! ��� 	������� �	 ��� ���		�� 	�+������� %��$�$����� ����� ��	�

2��*�3 �� 1��� @7/A 2��	� �������� �	 ��� ����	���� �����
 0��� 2�*13 $� 	�
� 	������� %��

%��	3! ��*� ��	 $��� 0����� �	�� ��  �����	 %��$��
	 �� �����
����� 	������� 	��� �	 ���������

%���	���	 @-.A, 0��
	 @-7A, %��4��	 �	�� $� 	%�

��	 @--A, ��� $�����	 @-8A!

�		�
��� ���� ��� �$	�� �����	 z(k) �����Hj ��� ��������� 0��� � %��$�$����� ��	���$�����

pj , ��� ��*� ��� $� ��	���$�� $� ��� �����0��� �+������	�

S(k + 1) = ���
p1(z(k))

p0(z(k))
+ S(k)

N = ���
n
{n : S(n) /∈ [L,U ]}.

	������� 0��� S(0) = 0! ��� ��*� ����	��� ���� dN �	 ������� �	�

dN =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
H1 �� S(N) ≥ U

H0 �� S(N) ≤ L,
29!83

0���� L ≈ �� b
1−a ��� U ≈ �� 1−b

a
, ��� 0���� a �	 ��� ��	���� %��$�$����� �� ���	� ����
 ��� b �	

��� ��	���� %��$�$����� �� 
�		�� ��������� 2�	����� ���	�� �	 	
���  ����	3!

/'�'� �
��"� ��
��
���

W��� �� ��� ������ ��������� %��$��
 �	 �� ������ � %�		�$�� ������, �� �� �����0� ������

%���� ks!��� ��
����� � 	�
 2�(�(
3 ��� ��� ������� �*�$���	 	����	���	 ��� ��� �0� 
�	�

-.



��

���� �	�� ��������
	 ��� ������ ��������� %��$��
	, ��� �(�(
 	����	��� $����  ���

	�
���� �� ��� ��*�!

W� �� � ��4�� ���	� ����
 ����, ��� �(�(
 ��������
 ����
%�	 �� 
���
�6� ��� ��
� N

20���� N ≥ ks3 ��� 0���� ��� ��	� 	��%	 ��� ������	 ���� � ������ ��	 ��������! ��� S(0) = 0!

��� �(�(
 	����	��� �	 �%����� ��������� ��

S(k + 1) =

(
���
p1(z(k))

p0(z(k))
+ S(k)

)+

29!:3

0���� (a)+ = a �� a ≥ 0 ��� 6��� �����0�	�! ��� 	��%%��� ��
� �	�

N = ���
n
{n : S(n) ≥ τ} 29!93

��� � �� �� ����	���� τ 	������� $�	�� �� ��� ���	� ����
 ���	������!

1� ��� 	�� ���� ��� �(�(
 ��������
 �	 �� ��*� ��	� 0��� L = 0, U = τ , ��� 0���� ��

��� 	����	��� ������	 ��� ��0�� ����	���� L, �� ���	����	!

C�� %��$��
 ���� 0� �� � �� ��� ��	� �	 ���� 0� �� ��� ���0 ��� %��$�$����� ��	���$�����

��� �� ������ p1! >� �������, �� ���%�� � �� ��	��� ��� 	����� ��� ��$������ 2��� %�		�$��3 ����

	��������� 	�+����� zi(k)! �		�
��� � ��4�� p1 0��� ���	 ��
�� ��� �$����� �� ������ � 0��� �����

�� ������	!

�� � ��� 
����� �		�
%����	 �$��� ��� %��$�$����� ��	���$����� �� �� ��������, 0� �	� ����	

���
 ���%���
����� 	����	���	! 1� �� ��� �		�
� � %���
����� ��	���$����� ��� p1 ��� p0? ��	����,

���� %���� 
��� ���	������	 �� ��� �$	�� ����� 	�+�����! C�� �� ��� 	�
%��	� ���	������	 �	 ��

�		�
� ���� ��� �4%�����  ���� �� �����
 %����		 Zi(k) ���� ��������	 ��� 	�+����� zi(k) �����

H0 �	 ��		 ���� 6��� 2E0[Zi] < 03 ��� ��� �4%�����  ���� �� Zi(k) ����� H1 �	 ������� ���� 6���

2E1[Zi] > 03! >� ��� �����0���, 0� �	� ��� 	�$	���%� i �� ������ ��� 	�+����� �����	%������ ��

	��	�� i!
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�� ����� � ���	� ���������	 ��� �	 ������

zi(k) := |ỹi(k)− ŷi(k)| − bi 29!=3

0���� bi �	 � 	
��� %�	��� � ���	���� ���	�� 	��� ����

E0[|ỹi(k)− ŷi(k)| − bi] < 0 29!;3

��� ���%���
����� �(�(
 	����	��� ��� 	��� ��� 	��	�� i �	

Si(k) = (Si(k − 1) + zi(k))
+, Si(0) = 0 29!<3

��� ��� �����	%������ ����	��� ���� �	

dN,i ≡ dτ (Si(k)) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
H1 �� Si(k) > τi

H0 �����0�	�!
29!/3

0���� τi �	 ��� ����	���� 	������� $�	�� �� ��� ���	� ����
 ���� ��� 	��	�� i!

)����0��� @-:A, 0� 	���� ��� �����0��� �0� �
%������ ��	���	 ��� �(�(
 ��������
 29!<3�

29!/3�

� ��� %��$�$����� �� ���	� ����
 ������	�	 �4%���������� �	 ��� ����	���� τi ������	�	,

� ��� ��
� �� ������ �� ������, (Ni − ks,i)+, �	 �� ��	��� %��%�������� �� bi!

/'�'+ 2��$���� 3���"  ����� �����

1���� ��	%��	� �	 �� �		������ ��	� ��� �����
����� �		������, ����� ���  ��� ��0 �����	��� ���

������� %�%��	 %��%�	��� ��	%��	� 	��������	!

C�� ��	%��	� 	������� 2	��0� �� )�� 9!73 ��� $� 	�

���6�� �	 �����0	� )�� 	��	�� i, ��

Si(k) > τi, ��� ��
 ��%����	 ��� 	��	�� 
��	���
���	 ỹi(k) 0��� 
��	���
���	 ���������

$� ��� ������ 
���� ŷi(k) 2���� �	 ��� ���������� 0��� ����� � �	 ��%�� ŷi(k) ��	���� �� ỹi(k)3!

C����0�	�, �� �����	 ỹi(k) �	 ��� ������� 	��	�� 	�����!

--



1� 0���� ���� �� %���� ��� ���� ��� ��	%��	� 	������� �	 
���� �	 � ��
%����� 	�������

$����� � ��
�� �%������ ��	%���	 �� ��� ����
! ��	�� �� ��� ��	���	 0� $���� � ���� ��� ��
�

��� � ��
�� ��	%��	� ��� $�  ��� ����� 2� ���%�� �� ����	3!

-8



�
�$
�� 4

56$������
�

>� ���	 ���%���, 0� ���	� �4%���� ��0 �� �����
��� ��� �0� %���
����	 2b ��� τ 3 �� ��� ����

%���
����� �(�(
 	����	���! ����, 0� ��	���$� ��0 ��� �����	� 	�	��
 0���	 ����� ���������

������	!

4'% 	������" ������
���

4'%'% 	������" b

>� ����� �� ������ ��� ���
����	, 0� ���� �� ����� ��� �4%�����  ���� �� ��� ��	����� |ŷi(k)−yi(k)|

$��0��� ��� ������ 
���� �	��
��� ŷi(k) ��� ��� 	��	�� 
��	���
��� yi(k)!

���� � ��� ��� ���
�
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�

)����� =!7� ��� %���
����� �� ��
� b! )�� y1, 9951 b	 ��� 0.015! ��� 
���  ���� �� by1 �	 0.0642!

1� ��� �4%���
���	 ��� ��� ����	��� ��
�	 2��� ��� :. ����	 ���� ��
�3 0������ ��� ������	

�� ������ 	����	���	! )�� =!7 	��0	 ��� �	��
���� %��$�$����� ��	���$�����	 20������ ���
���6��

����3!

�� �$���� bi, 0� ��
%��� ��� �
%������ �4%�����  ���� ��� ���� ��	����� ��� ���� ����� �%

-:



�� ��� 
�	� 	���������� ����	! 1� �$���� by1 = 0.064, by2 = 4.1, by3 = 0.041!

4'%'� 	������" τ

C��� 0� �� � bi ��� ���� 	��	��, 0� ���� �� ���� � ����	���� τi �� $������ ��� �������� $��0���

���	� ����
	 ��� ��������� ��
�!

!���� ����� 2�
�

1� ��� 	�
�������	 ��� �0���� ��
�	 0������ ������	 ��� ��
%��� ��� ����� ��
$�� �� ���	�

����
	 ��� ���������  ����	 �� τ 2��� ��� ���� 	��	��3! )�� =!- 	��0	 ��� ��	���	! ������ y1 �	 ��

�4�
%��, 0� ������ ���� Sy1 �����	 ���+������ �� 0� 	�� τy1 < 6!
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)����� =!-� ��� ��
$�� �� ���	� ����
	 ������	�	 �4%���������� 0��� ������	��� τ ! ���	 ��	���	 ������
 ���
������ 	�%%������ ��� ���%���
����� �(�(
 ��������
!

>� �������, 0� 0���� ���� �� 	����� τ �	 ���� �	 %�		�$�� ��� ���� 	��	�� �� � ��� ��� ���	�

����
? ��0� ��, ������	��� τ ������	�	 ��� ��
� �� ������ ������	!

��
��
��� 	���

�� 
��	��� ��� ��
� ��	� �� ������ ���������, 0� ��� 	�
�������	 $� ��������� 	������ ������	

�� 	��	��	 y1, y2 ��� y3! )�� =!8 	��0	 ��� �4%���
����� ��	���	!

• )�� y1,
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)����� =!8� ��� ��
� ��� ��������� ������	�	 �������� 0��� ������	��� τ ! ���	 ��	���	 ������
 ��� ������ $�����
��� ���%���
����� �(�(
 ��������
!

– >� ����	 0.5 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.9 ��� τy1 �	 	�� ��

50!

– >� ����	 0.1 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.5 ��� τy1 �	 	�� ��

50!

• )�� y2,

– >� ����	 1.8 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.9 ��� τy2 �	 	�� ��

5000!

– >� ����	 0.3 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.5 ��� τy2 �	 	�� ��

5000!

– >� ����	 0.5 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.5 ��� τy2 �	 	�� ��

8000!

• )�� y3,

– >� ����	 2 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.9 ��� τy3 �	 	�� �� 100!

– >� ����	 0.4 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.5 ��� τy3 �	 	�� ��

100!

– >� ����	 0.5 ����	 �� ������ ��� 	������ ������ 0��� λm �	 	�� �� 0.5 ��� τy3 �	 	�� ��

-=



100!

��� 	�������� �� ��� τ �	 � ��������� $��0��� ��������� ��
� ��� ��� ��
$�� �� ���	� ����
	!

��� �%%��%�����  ���� ������	 ���
 	�	��
 �� 	�	��
! �����	� ��� ����� ��
$�� �� ���	� ����
	

�	 ��� �� ��� 
��� %��$��
	 ��� ���
��� ��������� 	�	��
	, 0� ����	� ��� ���	�� ��� � 	�� ��

%���
����	 τy1 = 50, τy2 = 10000, τy3 = 200!

4'� ����
� �� �#
���
�� 2��$����

� ��
%�����	� � 	������� %�	���� ��� ��� 	�	��
 	����� ������� 
������	
	 ��� %�� ������,

���������, ��� ��	%��	� �� ������	! 
�	� �� ��� ��������� ������	 ��� 	������� 	�	��
	 ����	

�� %�� ������ 2��������������, ����		 �������	, ���!3 ��� ��������� 2�����	��� ��������� 	�	��
	,

��������� ����	, ���!3! >� ������	�, ����� ��	 $��� ��0�� ������	 ��� ��	������ ����
���� ��	%��	�	

�� ������	!

��� %��
��� %��$��
 �� ��	������ � ��
%���������
���� ��	%��	� �	 ���� �� 	� ���� ��	�	,

��	%������ �� ������	 
�� ���	�  �����	 ������ � ���	�+�����	! ���	 �	 %����������� ���� ��

� ��	%��	� 
������	
 �	 ��������� $� � ���	� ����
! >� ��� %��%�	�� ��������� ��� ��	%��	�

������������ 2)��! 9!73, 0� �� � �� 
��� 	��� ���� �� ����� �	 � ���	� ����
, ����������� ��� 	�	��


$� �	��� ��� �	��
����  ����	 ���
 ��� ������ 	�	��
 0��� ��� ���	� ��� 	����� �������	!

�� �����		 ���	� �������	 0� ��� ��� 	�
������� 	������� 0������ ��� ������	 7... ��
�	?

���� ��
� ��� �4%���
��� ��� ��� :. ����	! �	 �4%�����, 0��� ��� %���
���� 	�� τy1 = 50,

τy2 = 10000, τy3 = 200 ��� 	�	��
 ��� ��� ������ ��� ���	� ����
 2	�� ��$�� =!73? ��������� 0�

������� �� ������ ��� ��������� ����	���� �� τy1 = 5, τy2 = 1000, τy3 = 20 ��� ��� ��� 	�
�

�4%���
���	 �����! ��$�� =!- 	��0	 ��� $��� ��� �� ��� %��		��� ����� � ��	%��	� �� � ���	� ����
!

1� ��� 	�� ���� 0���� � ���	� ��	%��	� 
������	
 ������	�	 ��� %��		��� �� ��� ����, �� �� ��

-;



����
	 � � y2 ��� �� 
�4 y2
. -;..!: 7:!;8 -;9;

��$�� =!7� )�� ����	����	 τy1 = 50, τy2 = 10000, τy3 = 200 0� �$���� �� ���	� ����
! ���������
0� ���� ��%��� ��� �4%����� %��		���, ��� 	������� �� ������ �� ��� %��		���, ��� ��� 
�4�
�

%��		��� ������� ����� �� ���	� ����
!

����
	 � � y2 ��� �� 
�4 y2
y1 =7 -;7. 8.!8= -;;/
y2 7.= -;.9 7<!;- -;/:
y3 98 -;.= -.!</ -;;=

��$�� =!-� ���� ��� �� ��� %���� ����� ��	%��	� �� � ���	� ����
 0��� ����	����	 τy1 = 5, τy2 =
1000, τy3 = 20!

������	 ��������	 �� ��	! ��� 
�4�
�
 %��		��� �$������ 0���� ����������� ��� 	�	��
 $�	��

�� ��� ������ 
���� 0�	 2779kPa, 0���� �	 �� ��� 	�
� ����� �� 
�������� ���� ��� ���
��

 �������� �� ��� %��		��� 0������ ��� ���	� ����
 22757kPa3!

4'+ ��
��
��� ��� 2��$����

C%������� ��� ���
���� ������� 0��� � %��		��� ������ ���� 3000 ��� �	 ��	��� 2�� ��� ���� �� ��

�4%��	��� �� ��
��� �� ��� �+��%
���3, 	� ��� �� ��� 
��� ����	 �� �� �������� �	 �� ���	� ���

%��		��� �� �� �� ��� ���� �� �  ���� ������ ���� 3000 ���! >� ���	 	������, 0� �
%��
��� ���

��������� ������	 ��	���$�� �� %�� ���	 ���%���, ��������� 
����%������ � 	������ ������	, �����

������	, ���!

4'+'% �#�
�$����
�.� ������" �

����


����%������ � 	������ ������	 ����� � ����������	 $� 	������ ��
%��
�	�� 	��	�� 	�����	 ���

��� ���������� �	 �4%����� �� ��	%��� 0��� ��������� ������� 	�����	! 1� ������ 	������ ������ ��

	��	�� y1, y2, y3 �� 	�� ��0 ������	 ������ %���� ��� ��� %�����
���� �� ��
!

-<



• ��������� y1

1� ���	� ������ 	������ ������	 �� 	��	�� y12%��������� ����3 �� ��
� T = 10 2��3! ��

��0����� ��� %��������� ����, ���������� �%��	 ��� ��%��  �� �	 �� ���	� %��������� ����

��� ���	�	 %��		��� ���	�! #�0� ��, ��� %���� �	�	 �0� ����������	 �� %������ ��� %��		���!

��� %��		��� 	��%	 ���	��� 0��� ������� ���������� �$	�� �	 %��		��� �	 � �� 2900 ��� ���

����	 ��0� ��� ��%��  �� �!

1� ���$�� ��
 ��� ��%��� ��� �4%���
��� �����! ��
 ������	 ��� ������ �� ��
� T =

10.1 2��3 ��� ��� %��		��� �� y2 ��
���	 ������ 2700 ���! 1� �������� ���� ��������� y1

�	 ��� ���� $����	� �� ���	�5� 
��� %���� ���	� ��� �	 �������� ��� ��	�!
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2$3 1��� ��� ��
 ��� ������ �	 �������� �� ��
� T = 10.1 2��3, ��� ��� ���������� �	�	 ��� 	����� ŷ4
�	��
���� $� ��� ������ 
����!

)����� =!:� ỹ1 = y1 ∗ 0.5

• ��������� y2

���	�� y2 
������	 %��		��� �� ��� �������! ��������� 	��	�� y2 $� ��0����� ���  ����


���	 ���������� ���� ��0� ��� %����  �� � �� ������	� %��		���! >� �� ��%�������� 	�	��
,

-/



��� %���� ���	��	 �� ��
� T = 23.5 2��3 �� 0� 	�� %���
���� �� 	������ ������ λm �� 0.5!

1��� ��
 ���$���, ��� ������ ��� $� �������� �� ��
� T = 10.7 2��3 ��� ��� %���� ��
���	

	��$��!
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2$3 ��
 ������	 ��� ��	%���	 �� ��� ������ �� T =
10.7 2��3

)����� =!9� ỹ2 = y2 ∗ 0.5

• ��������� y3

���	�� y3 
������	 �
���� �� ���������� � �� �������! >� �� ��%�������� 	�	��
, �� 0�

	�� λs �� 0.5 ��� ������ � 	������ ������ �� ��� 	��	�� y3, ���� ��� ���������� ������	 �

��0 +������� �� 
������� � ��� ���	 
��� � ���� ��� 	�	��
! ���	 ��	���	 �� ��� ���� ��


������� � ��� �! �� ��
� T = 30.2 2��3, ���  ���� �� y3 �	 96.68 0���� 
���	 96.68U

�� ��� ������� 
�������	 ��� ���������� �! ��� %���� ���5� ���% ������� ���
��� ��� 	���	

��0�!

1��� ��
 ���$���, 	��� �� ������ ��� $� �������� �� ��
� T = 10.8 2��3 ��� ��� %����

	�	��
 ��������	 ��� �������� 0������ ����������� $� ��
%��
�	�� 	��	�� 	�����	!

)�� =!; 	��0	 ��� ��������� ��
� ��	�	 0���  ������ λm ��� ��������� 	������ ������	 ��

��� 	��	��	 y1, y2 ��� y3!

8.
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2$3 ��
 ������	 ��� ��	%���	 �� ��� ������ �� T =
10.7 2��3

)����� =!=� ỹ3 = y3 ∗ 0.5
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)����� =!;� ��������� ��
�  !	! 	������ ������! '��� ���� ��� λm = 1 ����� �	 �� ����
!

4'+'� ����� �

����

����� ������	 ����� 	��	�� 	�����	 	� ���� ��� ����������	 
�� 	��0 ��0� ��� ��������	 ��� ���� ��

��	%��� �� �������
�! >� ���	 �4%���
���, 0� ������ ����� ������	 �� y2 
��������� ��� %��		���

�� �������!

• �������� y2

1� ����� 	�����	 �� 	��	�� y2 	� ���� ��� ���������� 
�� ������ ���  �������� �� %��		���!

)�� =!< 	��0	 ��� ��	��� �� ��� ����� ������ �� y2! ����� ��� ���������� �� y2 ������ ���������

����� �� ��
� 	� ��� %���� �����	 �� ��	��$�� 	����! ��� �4%���
��� ��	��� 	��0	 ���� ��


��� ������ ��� ����� ������ �� ��
� T = 24.5 2��3 � �� �� ������ 	����� �	 ��������� �� ���	

������!

����� 	� ���� �4%���
���	 0��� ��������� λd	, 0� �������� ���� ��� ��
���	 ��	����� ���
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����� ������	 ��� ������� �� ��� ����� ��
� λd! ������ λd ����	 �� ������ %��$�$����� ��

���	���� %���� 	�	��
	, $�� �� 
�� $� ��	��� �� $� �������� $� ��
! >� �������� �� ���

����� ��
�, ���	� �	 ������� 	���������� ������ ���� 
�� ������ ��� %��$�$����� �� ���	����

%���� 	�	��
! ��������� �����	 �� ��� 	�
� ���	� 
�� ���� �� ��������� ������ �� ��
���!

>� ���	 �4%���
���, 0� ��� 	�
�������	 ��� 7.. ��
�	 �� �$	�� � ��� ��������	��% $��0���

����� ��
�, ���	� ��
� ��� ��������� ��
� 2	�� )�� =!/3!
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2$3 ��
 ������	 ������ �� T = 24.5 2��3

)����� =!<� ỹ2(t) = y2(t− 10)
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)����� =!/� ����� ��
�  !	! ���	� ��
� Y ��������� ��
�

)��
 ��� ��	���	, 0� ����� ���� ��������� ����� ��
�	 ���� �� ��������� ���	� ��
�	 ���

��������� ��
�	! �� ���
����� ��� ����������� �� ���	�, 0� ��
$��� �� 	������ ��� �����

������ ��� 	���� ��� ������ �� ��
%���� ������	!

• �������� y2 Y 
����%����� y1
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>� ���	 �4�
%��, 0� ������ � ����� ������ ��� 	������ ������ �� y2 ��� y1 ��	%���� ���!

)�� =!7. 	��0	 ��� �4%���
��� ��	���	, 0���� ��� 	������ ������ ����� �	 ��� ����� ������

	��0	 ��0� ��� ����������	 ����� ������! 1������ ��
, ��� %��		��� �4����	 8... ���

��� %���� ���	��	 �� ��
� T = 15 2��3! ������� ������	 ��� $� �������� �� ��
� T = 10.2

2��3 0��� ��
 �	 ���$���!

��
%���� 0��� B�	� ��������� �� 	����� ������, ������� 	������ ��������� �� y1 2	�� )�� =!:3

��� ����� ��������� �� y2 ��� ���	� ��� %���� 	�	��
!
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2$3 ��
 ������	 ������ �� T = 10.2 2��3

)����� =!7.� ỹ1(t) = y1 ∗ 0.8 Y ỹ2(t) = y2(t− 10)

• �������� y2 Y 
����%����� y3

'�4�, 0� ������ 	��	�� y3 ��	���� �� y1 �� �����	���� ��0 ��� ��
%���� ������ 0���	! >�

��� �������� %���� 	�	��
 20������ ��
3, )�� =!77 	��0	 ���� %���� ���	 �� ��	��� 	���� ��

��
� T = 16.2 2��3! ��
%���� 0��� B�	� ��������� �� 	������ ������ �� y3 2	�� )�� =!=3,

��� ��
%���� ������ ����	 
��� ��		 ��
� �� ���	� ��� %����! ��� ���	�� �	 ���� ��� �����
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������ ��
%��
�	�	 	��	�� y2, 	� ���� ��� ���������� �� y2 ��� ��� �$���� ���� �����
�����

�� ��4 ��� 0������ ��������� �� %��		��� �� ��
�!

& ��������, ��
 ������	 ��� ������ �� ��
� T = 12.2 2��3 ��� ��� %���� ���	 $��� ��

�������! >� 	����, �������� ��� ��
%���� ������ 	������	 ��� ���	� ��
�, ��
 	���� ������	

��� ������ �� ��
�!
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2$3 ��
 ������	 ������ �� T = 12.2 2��3

)����� =!77� ỹ2(t) = y2(t− 10) Y ỹ3 = y3 ∗ 1.2
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�
�$
�� 7

�
���

� �

����

1� �� � 	��0� ���� ��� ��
 ��� ������ � 0��� ����� �� ������	! 1� ��0 ���	���� � 
���

%�0����� �� ��	��� ���� ���0	 �$��� ��� ��������� 	���
�! 1� ���� � ���	�� ��� � �%%����� ��

��� 
����	 $� �		�
��� �  ��� %�0����� �������� 0��� ���0����� ��� 273 ��� �4��� ������ 
����

���� 0� �	� 2�!�!, 
������	 �,�, ��� �3, 2-3 ��� %���
����	 �� ��� ��
 2τ ��� b3, ��� 283 ���

������� ��

��� 	�����	! ���� � %�0����� �������� 
�� $� �������	��� �� 	�
� 	�������	, $��

0� 0��� �� ��	� ��� ��	������� �� ��� 	�	��
 �� 	��� �� �������� �� ��������� 	����� ��� � 0���

����� �� ������ 	�������	!

��� ���� �� ��� �������� �	 �� ���	� ��� %��		��� �� ��� ���� 0������ $���� �������� 2�!�!, ���	�

��� %��		��� 0���� ���%��� ��� 	����	��� �� �������	 $���0 ��� �����	%������ ����	���� τ 3!

7'% ����� �
���

� �

����

�������� ��������	 
�� ������ ��� %���� 	�	��
 	��������� ��� ��������� ��� �� ������� ��� ����
!

�� � ��� ���������� ��� ����
 	�	��
, ��� �������� ��
%���	 Sk	 ��� 
���	 	��� ���� Sk	 ���5�

��� ����� ��� ��������� ����	���� τ ! )�� ���	 ���	��, ��� �������� 	��	 �0� ��0 ����	����	 λs1τ

��� λs2τ 2λs1 > λs23! ���  ���� �� Sk ��	�	 �% 0��� ��� 	�	��
 �	 ����� ������, �����0�	� ��

����	 ��0�! �� 	��������� ������ �� 	�	��
, ��� �������� %��	� ��� ������ 0��� Sk �4����	 ���

���	� ����	���� 2Sk > λs1τ 3! ��� �������� ���������	 ��� ������ ����� Sk ����	 ����� ��� 	�����

����	���� 2Sk < λs2τ 3! �� %��	� ��� ��	���� ��� ������, ��� �������� 	��	 � ���� Fp ��� ����������
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21 ��� %��	� ��� 0 ��� ��	����3!

����� ��� �  ������ �� �
%��
��������	 �� 	������� ������	! 1� ��� �����6� �� 	������� ������

$� ��������� ������ �, 	������, ����� ������	 �� ��� ��
$������� �� ���
! ���	, 0� 
���� ��

	������� ������ 2ỹsi (t)3 �	 �����0	

ỹsi (t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

'� �������

yi(k) ��� k /∈ Ka

(���� �������

y+i (k), Fp ← 1 ��� Sk < λs2τ

y+i (k) ��� λs2τ ≤ Sk < λs1τ ��� Fp = 0

���	� �������

yi(k) ��� λs2τ ≤ Sk < λs1τ ��� Fp = 1

yi(k), Fp ← 0 ��� Sk ≥ λs1τ

>� ���	 
����, ỹ+i �	 ��� ��
$������� �� ������ �, 	������ ��� ����� ������	! >� �	 ��%��	�����

�	 ỹ+i ∈ {ỹai , ỹmi , ỹdi , ...}!

8=



7'� 56$������
�

�������������, �� �	 ��������� ��� ��
 �� ������ ��� 	������� ������	 	���� ��������	 	��% ���������

��� %���� 	�	��
 ���� Sk �4����	 ��� ���	� ����	���� λs1τ 2λs1 < 13! >� ���	 �4%���
���, 0�

�
%��
��� 	������� ������	 �� ����� 0��	, $� 	������, ���	�	 ��� ��
$����� 	������ ��� �����

������	!

>� ��� ���	� �4�
%��, 0� 	��������� ������ � 	������ ������ �� y2! 1� 	%����� λm �	 0.9,

λs1 = 0.9, ��� λs2 = 0.7! )��
 ��� �4%���
��� ��	���	 	��0� �� )�� ;!7, 0� �$	�� � ���� ��


���	 ��� ������ ��� ������ ��� ��� 	������� ������ ���	 ��� ���	� ��� ��B����	 �� ��� %���� 	�	��


�������! ������ ����������� ��� ��4� ������, ��� %���� 	�	��
 ���	 $��� �� �� 	��$�� 	����!
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)����� ;!7� 	������� ������2ỹ2 = y2 ∗ 0.93

��� 	����� �4�
%�� �� � 	������� ������ �	 �
%��
����� $� �� ������ � ������! '��
��

��	���$����� ���	�	 ��� ��	����� ���� ��� 	��	�� 	�����	 y2! )�� ;!- 	��0	 ���� ��� 	�����	 �	�������

��� ��� %���� $���
�	 ��	��$�� ������ ��� ������, $�� ��� %���� 	�	��
 ���� ��	 ���� �� ��������

%��	�	 ��� ������ ��� � ������ ��� ��������� $� ��
!

��� ��	� �4�
%�� �
%��
���	 ��� 	������� ������ $� ��������� � 	������ ������ ��� � �����

������ �� y3 ��� y2, ��	%���� ���! >� ���	 �4�
%��, 0� 	%����� λm �	 1.2, λd �	 10 ����	! )�� ;!8

	��0	 ��� 	��	�� 	�����	 �� y2, y3 ��� �����Sk	! ��� ��
%���� ������ �	 �������� �� ��
� T = 10

2��3 ��� %��	�� ����� 2 ����	! ��� ��	���	 �� )�� =!77 	��0 ���� ��� ������ �������� �	 ��� 	����

�� ���	� ��� %����!

8;
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)����� ;!8� 	������� ������

��������� �����	� 	������� ������	 �	 	���������� 	���� 	������� ������	 ��� ���� ��%��	���

��	���� ������	 $�� ��	� ��� ������	 0��� �� � ��� ��
! C�� �%%����� 	��0	 ���� � �� ������

��
 ����	 �� ������ 	������� ������	, 0� ��� ���% ��� ��� %���� �� 	��� ���������	! ������	� ���,

��� ������	 0��� �� � ��� ��
 ��	� ����� ������	 �� ��� %����! ��
 ��	���	 	����� �� %���� ��


����� ����� �	 � ������ �� B�	� ��� ��	���$����!

8<



�
�$
�� 8

�����#���" 2������ ��� !#
#�� 9���

>� ���	 0��� 0� ��������� ������ �		�		
��� �� 	��	��	 �� � 0����	������ %����		 �������

	�	��
, �&����, ��� ���������� � 
���������� �� ��	��� ��������� ��� ��	%��	� 
������	
	

��� 	��� ������� 	�	��
	!

1� 	��0�� ���� �� �������� ��� ��
%��
�	� ��� 	����� �� ��� 	�	��
 $� ��������� ���������

	��	 �� 	��	��	! ����� ��� ������	 ���� 	� ���� ����	 �� ���	� � 	���������� ��
���, 0� $���� � ����

$������� �� ���
��� ��������� 
����� 
�� ����� � ��	��������� � 	������� 	������� �� ��
%���	��

�� �� �	���� �� 
��� ��	��� ��
%�� ��	������ �� ���	!

�� %��%�	��� �� ���
��� ��������� 	���
� 0� ��� �$�� �� ������ ��� ��	%��� �� ������	!

C�� ���
��� ��������� 	���
� ���	 ��� �� � ��� ���	� ����
 ����� ��� �%��
�� �������������!

(���� � 	�$�%��
�� ������������� 2��	����� �� ���	� ����
	3, 0� 	��0 ���� � ���	� ����
 20����

�����	 �	 �� �%����� ��� %���� ����� ��� ��%��	������ � 
���� ��	���� �� ��� 	��	�� �������	3 	����


�������	 ��� 	��� �%�������! 1� ��	� 	��0 ��0 ��� 	���
� 
�������	 ��� 	��� �%������� ��

��� %���� � �� �����	� %�0����� 	������� �������� 0�� ��	 ���0����� �� ��� %���
����	 �� ���

���
��� ��������� 
����� ��� 0�� ��� ��
%��
�	� ��� 	��	��	!

C�� �%%����� 	��0	 ��� ������� �� ���
��� ��������� ��� ����
���� ��	%��	� $� �	��� �

��%��	������ � 
���� �� %����		 ����
��	 �� ��� 	�	��
! & �� ������ 0� �� � ����	�� �� ���

�����	�	 �� � ���
���� ������� 	�	��
, ��� %�����%��	 ��� ������+��	 ��� $� �%%���� �� 
���

����� %��	���� %����		�	! �� ����
���� ��������� ��� ��	%��	� 
����� 0��� ��� $� � ���	���

�$�� 	������� ��� ��� ������� 	�	��
 %����		�	? ��0� ��, 0� $���� � ���� 
��� %����		�	 %�		�	

8/



��� ����������	���	 	�
���� �� ��� �&����, ��� 	� ��� �%%����� 0���� %���������� ����� � ����

	������� ��� ���	� %����		�	!

C�� 
�����$�	�� ��������� ��� ��	%��	� 
����� ��� $� �4������ �� ����� ������� 	�	��
	 ��

��� ������ ��������� 
����� �	 �+��%%�� 0��� � ��%��	������ � 
���� �� ��� 	�	��
! ����� 
���

������� 	�	��
 �%������	 �� � ����		 �� � ���	���$�� ����� ���� 	�� �� 	��	�� 
��	���
���	 ���

������� ��%��	 ����� ��
���� �%������� 
���, � ��%��	������ � 
���� ��� $� ���	������� �	���

	�	��
 �������������� ������+��	! 
���� ��, �	 
��� ���� �����	%������ �� �%������� 
���	

����� ������	 2����� 0��� ������� �������������3 $���
� � ����$��, ��%��	������ � 
����	 ���

���	� �%������� 
���	 ��� $� �������! � 	�%��	������� ��	%��	� 	������� 0���� ���� $� �� ������
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